11 NO.3

S1 — Sy Sh

3.1. G Go ®

p(roy) =p(x)op(y)

r,y € Gy
3.1. 0 : G — Gy 2
3.1. G — Gy
(1) G
T Y & o(z) = 9(y)
(2) N=¢'(0) G N
G (  23) (N
Ker(p) )
v : G — G G
3.2 G H G
red heH hx  G/H x
heH hx = xh'
3.2. G N G/N
[z] o [y] = [z o Y]
@ * G/H ) G/N
3.3 ( ) p: G — Gy
(1) ¢ G
(2) ¢ Image(¢)  Go
(3) ¢  G/Ker(p)  Image(y)

1



2 II NO.3

3.1. 6, Cx %
p(o) =sgn(o) o
® Ker(p) =2, Image(p) = {£1}.
3.1. G=06, 1
H
H={(1),(23),(24),(34),(234),(243)}
G H
G/H
[2]ly] = [zy] (2,9 € G)
vy 7 G/H )
[z1] = [z2] [v1] = [y2]
[2191] # [v2y2] T, T2, 91,92 € G
3.2, A K ( {1}



